Efficiency vs P,

+ 0.5p - T T
= E : : :
I R R s R
a E L E . .
5 04—,‘_' """""""""""""""""""""
R Rt SCTILIE PR
0] E e :
03:—#' """""""""""""""""""""
0.25F - e
0.2F #+eeveeensn e
O O SR I TITET ST
— * .
V15V OSSR SRR NS
Fa 2
O S R A
A | |
8 =M ]
& 1'"+++++} """""""""""""""""""""
0.95f-- -+~ + % --------------------------------------
ool 4t

000 4, Golf”

—— SSW_CKIPUSU__RECU
—— DQM_V0001_R000000001. Global CMSSW_mkFitPU50__RECO
—— DQM_V0001_R000000001__Global__CMSSW_mkFitPU50CowPtQuad__RECO
—— DOM_V0001_R000000001 _Global _CMSSW_mkFitPU50LowPtTriplet_ RECO
= 05 T
‘g o
>\0.45:— ------------------------------------------------
2
& 0AF - e
Q o
£ 0_35__ ................................................
7]

0. 3 ------------------------------ -++F -------

0.25F $ lh|‘+ #ﬁ* ‘fﬁihﬁ...; iiw....
2f * +

Ratio

90.5:

................................................

+

e
: + +++* +$+#$
023:-+?‘"-“-’-*¥+ A R

Ratio

3*+++*#++'++’++++’+’+1++'+T%I+T'T'+' ""’H%H'#
0-9#++H+ Wr* 1L++++ o ++ ++++++++++

TP(p



	Contents
	Page 1


